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I. Multiple Choice Question Sx1=5
1) Which of the following is not true?
(a) sinB = —% (b) cose=-1 (c) tane =25 (d) sece = i
2) cos19 + cos20 + cos3% +: : : + cos1790 =
@ o0 (b1 () -1 (d) 89
3) ) A sin(a+8) .
If tan a and tan [ are the roots of x* + ax + b = 0; then ——— 5 1s equal to
@ ®f ©-¢F @ -t
Y Let fie(x) = +[sin*x + cos¥x] where x€R and k > 1. Then f4(x) - fq(x) =
1 1 1 1
(@) 1 (b) 12 (c) 6 (d) 3
S) sin(A—B) sin(B—C) sin(C—A4) .
cosAcosB cosBcosC cosCcosA 1
(@ sinA+sinB+sinC () 1 () O (d cosA+cosB+cosC
II. 2 Marks 5x2 =10
©) " Show that tan (45° + A) = Litend
w 1—tan A
7) Find the values of other five trigonometric functions for the following
tan @ = -2, 0 lies in the II quadrant
8) Find the values of tan(1050°).
9) Find the values of other five trigonometric functions for the following
Sec 6 = %, 0 lies in the IV quadrant
10) . . o
Find the values of sin(-1110°).
1) Find the values of sin(—uT”).
III. 3 Marks 5x3=15
12) Find the values of other five trigonometric functions for the following
Cos 6 = —%, 0 lies in the III quadrant
13) An airplane propeller rotates 1000 times per minute. Find the number of degree that a point on the edge of the propeller will rotate
in 1 second
14) 5 2v6) . . . ) ) .. . . . . .
(7, T) is a point on the terminal side of an angle 6 in standard position. Determine the six trigonometric function values of angle
0
15)

Find the values of other five trigonometric functions for the following

sin 6 = —%, 0 = lies in the IV quadrant
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16 — '
) Prove that tanf+secf—1 — 1+sinf

tanf—secH+1 cosf

17) Prove that (sec A - cosec A) (1 + tan A + cot A) = tan A sec A - cot A cosec A.

IV. 5 Marks

|

18) Find all the angles between 0° and 360° which satisfy the equation sin? § =

19) Show that sin® % + sin® % + sin® % + sin® %T =2

20) If cot O (1 + sin #) = 4m and cot @ (1 - sin #) = 4n, then prove that (m? - n?)? = mn

21) 1

If 0 is an acute angle, then find sin (% — g) , when sinf = 5
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